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1. 1mol WIE4ATE 101325Pa T AN SIBE (1620°C) # &, R 1620C, 5.07 x10'Pa Y
&S, KiZIENAG.
2+ 1mol T E-FHARSKMIAZS 300K, 50kPa, SEEMTEELEZE 100kPa, BIEEAH, £
ERRYGE/NE) 15dm3. KRBT EFH O W, AU. AH FIAS,
3. BT H BT R T E AL IR, R CHi(g)=C(R #8)+2Hx(g), TRIARIIA
IREEE R SRR SEE (BAIAK) BXRN

AGE(T) = 90165 — 109.56T (J - mol™1),

(1) 3K 500°C B 1Hb 52 o7 B A #E P 1457 5 20K

(2) WAEp = p®(= 10°Pa), BREKFEAEESIE, K 500CT RF-FER CHe f95
fRE.

(3) 7£ 500°CF, MfEp = p°if, WMRSMENRFHTIETEH S0%H B LR 50%H1E 1
ShE, kRSP CHg B fRE .
4. B0 298K B EL b Pt[Ha(g, p®)[NaOH(aq)[HgO(s)|Hg (1), Pt B3 % E=0.926V,
A;HS (HgO,s) = —90.71kJ - mol™!, A;HE(H0,1) = —285.84kJ - mol ™.

(1) 5 e RAN e SN

(2) 3Rk 298K % B i SO A B v 4T O

(3) 3R 308K AHZEMMAIBENH .
5. CHCl3()HI% T8 119.5gmol?, p® (= 10°Pa)iEJ1 FIEH 50 334K, BERAKME
AvepHn=29.5kJ-mol o 24 298K B R E 3K /7 v = 0.0287N-m’", i p = 1480kg-m.

(1) 3k 298K Bt CHCL:()RIM AN 2<%

(2) ¥ CHCI(DBE I 2 79 1x108m f9/NRR, R 298K I BB AN RS s

(3) 7F 298K, p°EA T, #HHEN 0.5mm MEBLAEREA CHCL(O) T, B4E R LI
EEAZ DT
6. M7B 25°CHEMFAEMAIBIEER 247.76 kPa, K-

(1) ZBW T R RS E/RIRE;

(2) SZIERABNT T 47K 0% & s PR RAE

(3) FERFHERSEAT, ZIERER T4k At &mE.

ELEnPK B4 8 496.01kT - mol ™Y, 7KAIFE & 48 J940.8kJ - mol 1.

—. FBE (B 15 4y, #3040
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AC, MOy KRR LLERERN: C,—Cy =
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2. B ANIERA:

oS P e
(1 <57>U_T (845

Cy Op
= 24T £ qv 74
(2) dS TdT+<(9T>V 1 (743

=, AEE (F/NE 1045, 3309

1. XTEESE, STERENSEEN py po s Bps>p>pn BB SEEE S

BB TG R R B, AR L.

2 A URBAL? AN B T AR E S BT E B AR B A F A 5 OB AT T AR

3. EMSAREEN A (BE651C) M B (EA419C) MAERAR —MEE R, 3%
BN 368°C (42%A, REASH, TED.

(1) 24 Z AN RGN REME, HMHEHEXPHESREHE.

(2) $5i 80% A MIRZM 700°CAENE] 300°CIEFEF AUAEAELTE, IR, B

S RIARIE .

(3) 80% A HIMRERIEIIE SR EERT, RZHMPAER, FMAREZAZD?
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